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ZESTAWIENIE POMIESZCZEN %
Kondygnacja ‘ Nr ‘Nozwo pomieszczenia Powierzchnia
0.3.5 PARTER Q.
~ ] ] ,7 m2 Mieszkanie 0.3 Q
— 0.3.1  |Hol 2,4
N 0.3.2 |Garderoba 2,0
0.3.3  |Pok¢j dzienny 20,9 .
0.3.4  |Pok¢j 10,8
0.3.5 |Sypialnia n7 \g
0.3.6 |tazienka 4,5
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ZESTAWIENIE POMIESZCZEN

Kondygnacja ‘ Nr ‘Nozwo pomieszczenia Powierzchnia

PARTER

Mieszkanie 0.3
031 [Hol 24
0.3.2 |Garderoba 2,0
0.3.3  |Pok¢j dzienny 20,9
0.3.4  |Pok¢j 10,8
0.3.5 |Sypialnia n7
0.3.6 |tazienka 4,5

RAZEM 52,3 m?

OGRODEK 84,3 m?

HERBERTA




